ASSEMBLY

PACKAGE CONTENTS

1 x Seat back

X Seat cushion

X Lumbar pillow / neck pillow

X Tilt Mechanism

2 x Seat back hinge covers

2 X Hinge cover rubber plug

1 x Gas Lift

1 x Chair base

5 x Caster Wheels

1 x M8 Allen / Philip screwdriver key
2 X Hinge Cover Sores

2 X Mounting Screws (provided as
extras)

h

Remove the four screws from the seat cushion bottom
using the M8 Allen key. Attach the multi-functional
mechanism to the bottom of the seat cushion using

these four M8 screws. Ensure the mechanism is in the
correct direction. Proceed to Step 5.

Remove the four M8 screws that are pre-installed in the back-
rest using the Allen key.

7

1 0 Insert the rubber plugs once the covers are fastened. 1

Insert the chair wheels into the holes on the bottom of chair base.
Mal-t;e sure all the wheels are firmly inserted.

s

Sllde the gas lift cover over the gas lift with larger end of gas lift
cover facing down. If you are assembling an HERO or LEGEND,
prnt:eed to Step 4a. For other models, skip to Step 4b.

-+

Plan::E the seat onto the completed chair base by inserting the

gas lift, cylinder into the center hole in the seat control unit. Make
sure the seat is firmly pressed before using the chair CAUTION:
Plea se remove the red cap before you install the gas lift.

v

Attach the backrest using the M8 screws. Tighten all 4 screws
fully using the Allen key.

Attach the neck pillow through the holes in the neck area and
fasten the buckle. The bottom strap of the lumbar pillow will
go through the  opening between seat cushion and seat
back, the top strap will go through the holds of the seat back.

Align the backrest with the bracket on the right side of the chair.

Turn the wheelbase the right side up and install the gas lift with
Iarger end of gas lift into the top central hole of the chair base.

Res

Remove the four screws from the seat cushion bottom
using the M8 Allen key. Attach the basic-tilt mechanism
to the bottom of the seat cushion using these four M8
screws. Ensure the mechanism is in the correct direc-
tion. Skip to Step 5.

\

3

Carefully tilt the chair upwards while holding the wheelbase
and position it upright.

'

6

Attach the left and right cover cap onto the recline adjuster
with the screws.

9

1 Z Enjoy your seat, we've got your back.

USAGE INFORMATION

1D ARMRESTS

Press and hold the lever on the outside of the
armrest to adjust height.

K/ UNLOCK

BASIC-TILT MECHANISM

Right lever (while seated): Pull up to adjust height.
Push inwards/push outwards to lock/unlock the tilt
mechanism.

BACKREST RECLINE

Pull the lever FULLY and lean back slowly until desired
angles is achieved, then slowly return the lever to its
starting position. Ensure the lever locks back in place.

LOC
TILT MECHANISM

FRONT-BACK

4D ARMRESTS

Press and hold the 1) front button to adjust front, back,
and angle, 2) inner side button to adjust sideways, and 3)
lever on the outside of the armrest to adjust height.

sl |
. _'____..---""_'_F ' 'I. ‘-1'-'.‘._"--—-.____ A,

MULTI-FUNCTIONAL MECHANISM

Right lever (while seated). Push down/pull up to
lock/unlock the tilt mechanism.Left lever (while seated):
Pull up the adjust height.

ADJUSTMENT

PU RUBBER COATRD

PU Casters

Durable PU casters that enable smooth movement in all
directions. The PU rubber coating is friendly towards

SAFETY

v/

Sit in the center of the chair,
with your back to the backrest.

v

90°-155" safely angle
adjustable backrest

I'he recormmended weight load for 90kg (2001bs
180 kg (400 lbs) for the GLADIATOR,

and in a non-abusive manner. For

Do not sit at the front edge
of the chair.

ff;

Do not place all your weight
on the backrest only.

DEFENDER ang CX
warranty

INFORMATION

most kinds of surfaces.
l yx ! X I

Do not push down on the backrest
when a person is reclined.

i3

Do not use the chair with more
than one person.

3] for the HI H‘:kr_].m.].]hlfur the LEGEMD series, and
M HL-NIH R series. The chair should only be used r [rrmll'_-.-'
nformation, please visit the 'u‘u-';':rrr]"'.;.- Policy on our website




